Our allomorphy jigsaw puzzle
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* We will consider three ways in which
allomorphy is triggered. Bl (T 1] ([
* First phase: divide into 6 small groups. -j.D.= CLIT] [ T[]
* Two A, two B, two C, .. .E | | . B
e Each discusses its own phenomenon. N ] - T T [
 These are the Expert Groups.

* Second phase: we create new groups, 5-8 Jigsaw Groups. Each Jigsaw Group
must have at least one Expert from each of the Expert Groups (A, B, C).

* Each Expert explains their own phenomenon.
The Jigsaw Groups then discuss collectively:
— What’s the 4th pattern that’s missing?
— What would such a pattern of allomorphy look like?



